# Two New Mock Theta Double Sums 

Jizhen YANG ${ }^{1}$, Hanfei SONG ${ }^{2}$, Zhizheng ZHANG ${ }^{1,3, *}$<br>1. Department of Mathematics, Luoyang Normal University, Henan 471934, P. R. China;<br>2. Department of Mathematics, Shanghai Normal University, Shanghai 200234, P. R. China;<br>3. College of Mathematics and Information Science, Henan Normal University,<br>Henan 453001, P. R. China


#### Abstract

Recently, Zhang and Li presented five mock theta functions as $q$-hypergeometric double sums by using a Bailey pair. In this paper, employing the same Bailey pair, we further establish two new mock theta double sums in terms of Appell-Lerch sums and theta series. Indeed, identities between a new mock theta function and classical mock theta functions are obtained.


Keywords mock theta double sums; Bailey pair; Appell-Lerch sums; theta series
MR(2020) Subject Classification 33D15; 11F03

## 1. Introduction

The mock theta functions were introduced by Ramanujan in his letter to Hardy [1], in which he gave seventeen mock theta functions of order three, five and seven. Since then, mock theta functions have attracted the attention of lots of mathematicians. For instance, Andrews and Hickerson [2] provided proofs of 11 sixth order mock theta function identities found in Ramanujan's "lost" notebook [1] using the Bailey pairs. These functions include

$$
\begin{array}{ll}
\phi(q)=\sum_{n \geq 0} \frac{(-1)^{n} q^{n^{2}}\left(q ; q^{2}\right)_{n}}{(-q)_{2 n}}, & \sigma(q)=\sum_{n \geq 0} \frac{q^{\left(\frac{n_{2}^{2} 2}{2}\right)}(-q)_{n}}{\left(q ; q^{2}\right)_{n+1}}, \\
\mu(q)=\sum_{n \geq 0}^{*} \frac{(-1)^{n}\left(q ; q^{2}\right)_{n}}{(-q)_{n}}, & \gamma(q)=\sum_{n \geq 0} \frac{q^{n^{2}(q)_{n}}}{\left(q^{3} ; q^{3}\right)_{n}} .
\end{array}
$$

By means of the Bailey pairs, the following two mock theta functions of the sixth order are defined by Berndt and Chan [3].

$$
\phi_{-}(q)=\sum_{n \geq 1} \frac{q^{n}(-q)_{2 n-1}}{\left(q ; q^{2}\right)_{n}}, \quad \psi_{-}(q)=\sum_{n \geq 1} \frac{q^{n}(-q)_{2 n-2}}{\left(q ; q^{2}\right)_{n}} .
$$

[^0]In [4], Lovejoy obtained families of $q$-hypergeometric mock theta multisums by constructing classes of Bailey pairs. Other mock theta functions have been found by many authors using a variety of methods [5-13].

We also note that the Bailey pairs play an important role in the study of mock theta double sums. Lovejoy and Osburn $[14,15]$ constructed a number of new $q$-hypergeometric double sums which are mock theta functions. Subsequently, Gu and Liu [16] derived many families of mock theta functions by constructing generalized Bailey pairs with more parameters. Recently, Zhang and $\mathrm{Li}[17]$ deduced five mock theta double sums by establishing the following Bailey pair relative to 1 ,

$$
\begin{gather*}
\alpha_{2 n}=-\left(1-q^{4 n}\right) q^{4 n^{2}-2 n+\frac{1}{2}} \sum_{j=-n}^{n-1} q^{-2 j^{2}-j},  \tag{1.1}\\
\alpha_{2 n+1}=\left(1-q^{4 n+2}\right) q^{4 n^{2}+2 n+\frac{1}{2}} \sum_{j=-n}^{n} q^{-2 j^{2}+j} \tag{1.2}
\end{gather*}
$$

and

$$
\begin{equation*}
\beta_{n}=-\frac{1}{(\sqrt{q})_{n}} \sum_{j=1}^{n} \frac{(-1)^{j} q^{\binom{j}{2}+\frac{1}{2}}}{(q)_{n-j}(q)_{j-1}\left(1+q^{j-\frac{1}{2}}\right)} \tag{1.3}
\end{equation*}
$$

In [18], Patkowski discussed and offered some double sum $q$-series, with new relationships among classical mock theta functions.

In this note, we obtain two new mock theta double sums by utilizing the above Bailey pair (1.1)-(1.3).

Theorem 1.1 The following mock theta functions are true.

$$
\begin{align*}
M_{1}(q) & :=\sum_{n \geq 1} \sum_{n \geq j \geq 1} \frac{(-1)^{n+j}(-\sqrt{q})_{n} q^{\binom{j}{2}}}{(q)_{n-j}(q)_{j-1}\left(1+q^{j-\frac{1}{2}}\right)} \\
& =\frac{\left(q ; q^{2}\right)_{\infty}}{2\left(q^{2} ; q^{2}\right)_{\infty}} f_{1,3,1}\left(-q^{2},-q, q\right) \\
& =q^{-1} m\left(-1, q^{8}, q\right)+m\left(-q^{4}, q^{8}, q^{-1}\right)+\frac{J_{2,4} J_{8,16} J_{2,8} J_{4,16}}{\bar{J}_{1,1} \bar{J}_{1,8} \bar{J}_{3,8}},  \tag{1.4}\\
M_{2}(q) & :=\sum_{n \geq 1} \sum_{n \geq j \geq 1} \frac{(-1)^{j}(-1)_{n} q^{\binom{n+1}{2}+\binom{j}{2}}}{(\sqrt{q})_{n}(q)_{n-j}(q)_{j-1}\left(1+q^{j-\frac{1}{2}}\right)} \\
& =-\frac{2(-q)_{\infty}}{(q)_{\infty}} f_{1,2,1}\left(q^{4}, q^{3}, q^{2}\right) \\
& =2 m\left(q^{2}, q^{6}, q^{-1}\right) . \tag{1.5}
\end{align*}
$$

Meanwhile, identities between the mock theta double sum $M_{2}(q)$ and the classical mock theta functions are established.

Theorem 1.2 We have

$$
M_{2}(q)=\phi\left(q^{2}\right)+\frac{2 J_{6}^{3} \bar{J}_{1,6}^{2}}{J_{1,6}^{2} \bar{J}_{0,6} \bar{J}_{2,6}},
$$

$$
\begin{aligned}
& M_{2}(q)=-2\left(\sigma(q)-\frac{J_{2}^{2} J_{6}^{3}}{J_{1,6}^{3} J_{3,6}}\right) \\
& M_{2}(q)=\mu(q)+\frac{J_{1,2} \bar{J}_{1,3}}{2 \bar{J}_{1,4}}+\frac{2 J_{6}^{3} \bar{J}_{1,6}^{2}}{J_{1,6}^{2} \bar{J}_{0,6} \bar{J}_{2,6}}, \\
& M_{2}(q)=\frac{2}{3}\left(\gamma\left(q^{2}\right)-\frac{J_{2,4}^{2}}{\bar{J}_{2,6}}+\frac{3 J_{6}^{3} \bar{J}_{3,6}^{2}}{J_{1,6}^{2} \bar{J}_{2,6}^{2}}\right) \\
& M_{2}(q)=-2\left(\phi_{-}\left(q^{2}\right)+q^{2} \frac{\bar{J}_{6,24}^{3}}{J_{2} \bar{J}_{2,8}}-\frac{J_{6}^{3} J_{3,6}^{2}}{J_{2}^{2} J_{1,6}^{2}}\right) .
\end{aligned}
$$

The rest of the paper is arranged as follows. In Section 2, we collect some useful tools and results on $q$-series and mock theta functions. We prove Theorems 1.1 and 1.2 in Sections 3 and 4 , respectively.

## 2. Preliminaries

Here and throughout the paper, we adopt the standard notation for $q$-shifted factorials in [19]:

$$
\left(a ; q^{k}\right)_{n}=(1-a)\left(1-a q^{k}\right)\left(1-a q^{2 k}\right) \cdots\left(1-a q^{(n-1) k}\right) \quad\left(a ; q^{k}\right)_{\infty}=\prod_{m=0}^{\infty}\left(1-a q^{m k}\right)
$$

When $k=1$ we usually write $(a)_{n}$ and $(a)_{\infty}$ instead of $(a ; q)_{n}$ and $(a ; q)_{\infty}$, respectively.
Firstly, we briefly review the Bailey pair and Bailey lemma. Let $\alpha=\left(\alpha_{0}, \alpha_{1}, \ldots\right)$ and $\beta=\left(\beta_{0}, \beta_{1}, \ldots\right)$. The pair of sequences $\left(\alpha_{n}, \beta_{n}\right)$ is called a Bailey pair with respect to $a$ if

$$
\beta_{n}=\sum_{r=0}^{n} \frac{\alpha_{r}}{(q)_{n-r}(a q)_{n+r}},
$$

for all $n \geq 0$. Bailey's lemma says that if $\left(\alpha_{n}, \beta_{n}\right)$ is a Bailey pair relative to $a$, then

$$
\begin{equation*}
\sum_{n=0}^{\infty}(\rho)_{n}(\sigma)_{n}(a q / \rho \sigma)^{n} \beta_{n}=\frac{(a q / \rho, a q / \sigma)_{\infty}}{(a q, a q / \rho \sigma)_{\infty}} \sum_{n=0}^{\infty} \frac{(\rho)_{n}(\sigma)_{n}(a q / \rho \sigma)^{n}}{(a q / \rho)_{n}(a q / \sigma)_{n}} \alpha_{n} \tag{2.1}
\end{equation*}
$$

The classical theta series is defined by

$$
j(x ; q):=\sum_{r=-\infty}^{\infty}(-1)^{r} x^{r} q^{\binom{r}{2}}=(x, q / x, q)_{\infty}
$$

Define $J_{a, m}:=j\left(q^{a} ; q^{m}\right), \bar{J}_{a, m}:=j\left(-q^{a} ; q^{m}\right)$ and $J_{m}:=J_{m, 3 m}$, where $a$ and $m$ are integers with $m$ positive.

From the definition of $j(x ; q)$, we have

$$
\begin{equation*}
j(x ; q)=j(q / x ; q)=-x j\left(x^{-1} ; q\right) \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
j\left(q^{n} x ; q\right)=(-1)^{n} q^{-\binom{n}{2}} x^{-n} j(x ; q), \tag{2.3}
\end{equation*}
$$

where $n \in \mathbb{Z}$.

Let $x, z \in \mathbb{C}^{*}=\mathbb{C} \backslash\{0\}$ with neither $z$ nor $x z$ an integral power of $q$. The Appell-Lerch sum is defined by

$$
m(x, q, z):=\frac{1}{j(z ; q)} \sum_{r} \frac{(-1)^{r} z^{r} q^{\binom{r}{2}}}{1-q^{r-1} x z}
$$

The following property [20, Theorem 3.3] of the Appell-Lerch sums $m(x, q, z)$ will be used: For generic $x, z, z_{0} \in \mathbb{C}^{*}$,

$$
\begin{equation*}
m(x, q, z)=m\left(x, q, z_{0}\right)+\frac{z_{0} J_{1}^{3} j\left(z / z_{0} ; q\right) j\left(x z z_{0} ; q\right)}{j\left(z_{0} ; q\right) j(z ; q) j\left(x z_{0} ; q\right) j(x z ; q)} . \tag{2.4}
\end{equation*}
$$

The Hecke-type double sums are defined by

$$
f_{a, b, c}(x, y, q):=\left(\sum_{r, s \geq 0}-\sum_{r, s<0}\right)(-1)^{r+s} x^{r} y^{s} q^{a\binom{r}{2}+b r s+c\binom{s}{2}}
$$

which is an indefinite theta series when $a c<b^{2}$. Here we assume $a, c>0$.
In [20], in order to convert from the Hecke-type double sums to Appell-Lerch sums, Hickerson and Mortenson defined

$$
\begin{align*}
& g_{a, b, c}\left(x, y, q, z_{1}, z_{0}\right):=\sum_{t=0}^{a-1}(-y)^{t} q^{c\binom{t}{2}} j\left(q^{b t} x ; q^{a}\right) m\left(-q^{a\binom{b+1}{2}-c\binom{a+1}{2}-t\left(b^{2}-a c\right)} \frac{(-y)^{a}}{(-x)^{b}}, q^{a\left(b^{2}-a c\right)}, z_{0}\right)+ \\
& \sum_{t=0}^{c-1}(-x)^{t} q^{a\binom{t}{2}} j\left(q^{b t} y ; q^{c}\right) m\left(-q^{c\binom{b+1}{2}-a\binom{c+1}{2}-t\left(b^{2}-a c\right)} \frac{(-x)^{c}}{(-y)^{b}}, q^{c\left(b^{2}-a c\right)}, z_{1}\right) . \tag{2.5}
\end{align*}
$$

The following term "generic" means that the parameters do not cause poles in the AppellLerch sums or in the quotients of theta functions.

Lemma 2.1 ([20, Theorem 1.6]) Let $n$ be a positive integer. For generic $x, y \in \mathbb{C}^{*}$,

$$
f_{n, n+1, n}(x, y, q)=g_{n, n+1, n}\left(x, y, q, y^{n} / x^{n}, x^{n} / y^{n}\right) .
$$

Lemma 2.2 ([20, Theorem 1.9]) Let $n$ be a positive odd integer. For generic $x, y \in \mathbb{C}^{*}$,

$$
f_{n, n+2, n}(x, y, q)=g_{n, n+2, n}\left(x, y, q, y^{n} / x^{n}, x^{n} / y^{n}\right)-\Theta_{n, 2}(x, y, q)
$$

where
$\Theta_{n, 2}(x, y, q):=\frac{y^{(n+1) / 2} J_{2 n, 4 n} J_{4(n+1), 8(n+1)} j\left(y / x ; q^{4(n+1)}\right) j\left(q^{n+2} x y ; q^{4(n+1)}\right) j\left(q^{2 n} / x^{2} y^{2} ; q^{8(n+1)}\right)}{q^{\left(n^{2}-3\right) / 2} x^{(n-3) / 2} j\left(y^{n} / x^{n} ; q^{4 n(n+1)}\right) j\left(-q^{n+2} x^{2} ; q^{4(n+1)}\right) j\left(-q^{n+2} y^{2} ; q^{4(n+1)}\right)}$.

## 3. Proofs of Theorems 1.1 and 1.2

We first prove Theorem 1.1.
Proof For (1.4), substituting the Bailey pair (1.1)-(1.3) into Bailey's lemma (2.1) with $\rho=\sqrt{q}$, $\sigma=-\sqrt{q}$, we have

$$
-2 q^{\frac{1}{2}} M_{1}(q)=2 \sum_{n \geq 0}(-1)^{n}\left(q ; q^{2}\right)_{n} \beta_{n}=\frac{\left(q ; q^{2}\right)_{\infty}}{\left(q^{2} ; q^{2}\right)_{\infty}} \sum_{n \geq 0}(-1)^{n} \alpha_{n}
$$

$$
\begin{aligned}
= & \frac{\left(q ; q^{2}\right)_{\infty}}{\left(q^{2} ; q^{2}\right)_{\infty}}\left(\sum_{n \geq 0} \alpha_{2 n}-\sum_{n \geq 0} \alpha_{2 n+1}\right) \\
= & \frac{\left(q ; q^{2}\right)_{\infty}}{\left(q^{2} ; q^{2}\right)_{\infty}}\left(-\sum_{n \geq 0} q^{4 n^{2}-2 n+\frac{1}{2}} \sum_{j=-n}^{n-1} q^{-2 j^{2}-j}+\sum_{n \geq 0} q^{4 n^{2}+2 n+\frac{1}{2}} \sum_{j=-n}^{n-1} q^{-2 j^{2}-j}-\right. \\
& \left.\sum_{n \geq 0} q^{4 n^{2}+2 n+\frac{1}{2}} \sum_{j=-n}^{n} q^{-2 j^{2}+j}+\sum_{n \geq 0} q^{4 n^{2}+6 n+\frac{5}{2}} \sum_{j=-n}^{n} q^{-2 j^{2}+j}\right)
\end{aligned}
$$

On the right-hand side of the above identity, replacing $n$ with $-n$ in the second sum and $n$ with $-n-1$ in the fourth sum and letting $n=(r+s+1) / 2, j=(r-s-1) / 2$ in the first two sums and $n=(r+s) / 2, j=(r-s) / 2$ in the latter two sums, we arrive at

$$
\begin{aligned}
&-2 q^{\frac{1}{2}} M_{1}(q)= \frac{\left(q ; q^{2}\right)_{\infty}}{\left(q^{2} ; q^{2}\right)_{\infty}}\left\{-\left(\sum_{\substack{r, s \geq 0 \\
r \not \equiv s(\bmod 2)}}-\sum_{\substack{r, s<0 \\
r \not \equiv s(\bmod 2)}}\right) q^{\frac{1}{2} r^{2}+3 r s+\frac{1}{2} s^{2}+\frac{3}{2} r+\frac{1}{2} s+\frac{1}{2}}-\right. \\
&\left.\left(\sum_{r, s \geq 0}\right) \sum_{\substack{\frac{1}{2} r^{2}+3 r s+\frac{1}{2} s^{2}+\frac{3}{2} r+\frac{1}{2} s+\frac{1}{2}}}^{r \equiv s(\bmod 2)} \begin{array}{l}
r \equiv s(\bmod 2) \\
= \\
= \\
= \\
\left(q ; q^{2}\right)_{\infty} \\
\left(q^{2} ; q^{2}\right)_{\infty}
\end{array} \sum_{r, s \geq 0}-\sum_{r, s<0}\right) q^{\frac{1}{2} r^{2}+3 r s+\frac{1}{2} s^{2}+\frac{3}{2} r+\frac{1}{2} s+\frac{1}{2}} \\
&\left(q^{2} ; q^{2}\right)_{\infty}
\end{aligned} f_{1,3,1}\left(-q^{2},-q, q\right) .
$$

With the help of Lemma 2.2, (2.2), (2.3) and (2.5), we deduce

$$
f_{1,3,1}\left(-q^{2},-q, q\right)=q^{-1} j(-q ; q) m\left(-1, q^{8}, q\right)+j(-q ; q) m\left(-q^{4}, q^{8}, q^{-1}\right)-\Theta_{1,2}\left(-q^{2},-q, q\right)
$$

so we have

$$
M_{1}(q)=q^{-1} m\left(-1, q^{8}, q\right)+m\left(-q^{4}, q^{8}, q^{-1}\right)+\frac{J_{2,4} J_{8,16} J_{2,8} J_{4,16}}{\bar{J}_{1,1} \bar{J}_{1,8} \bar{J}_{3,8}}
$$

For (1.5), we take the Bailey pair (1.1)-(1.3) into Bailey's lemma (2.1) with $\rho=-1, \sigma \rightarrow \infty$ to give

$$
\begin{aligned}
-q^{\frac{1}{2}} M_{2}(q)= & \sum_{n \geq 0}(-1)_{n} q^{\binom{n+1}{2}} \beta_{n}=\frac{(-q)_{\infty}}{(q)_{\infty}} \sum_{n \geq 0} \frac{2 q^{\binom{n+1}{2}}}{1+q^{n}} \alpha_{n} \\
= & \frac{2(-q)_{\infty}}{(q)_{\infty}}\left(\sum_{n \geq 0} \frac{q^{2 n^{2}+n}}{1+q^{2 n}} \alpha_{2 n}+\sum_{n \geq 0} \frac{q^{2 n^{2}+3 n+1}}{1+q^{2 n+1}} \alpha_{2 n+1}\right) \\
= & \frac{2(-q)_{\infty}}{(q)_{\infty}}\left(-\sum_{n \geq 0} q^{6 n^{2}-n+\frac{1}{2}} \sum_{j=-n}^{n-1} q^{-2 j^{2}-j}+\sum_{n \geq 0} q^{6 n^{2}+n+\frac{1}{2}} \sum_{j=-n}^{n-1} q^{-2 j^{2}-j}+\right. \\
& \left.\sum_{n \geq 0} q^{6 n^{2}+5 n+\frac{3}{2}} \sum_{j=-n}^{n} q^{-2 j^{2}+j}-\sum_{n \geq 0} q^{6 n^{2}+7 n+\frac{5}{2}} \sum_{j=-n}^{n} q^{-2 j^{2}+j}\right) .
\end{aligned}
$$

On the right-hand side of the above equation, replacing $n$ with $-n$ in the second sum and $n$ with $-n-1$ in the fourth sum and setting $n=(r+s+1) / 2, j=(r-s-1) / 2$ in the first two sums
and $n=(r+s) / 2, j=(r-s) / 2$ in the latter two sums, we get

$$
\begin{aligned}
-q^{\frac{1}{2}} M_{2}(q)= & \frac{2(-q)_{\infty}}{(q)_{\infty}}\left\{-\left(\sum_{\substack{r, s \geq 0 \\
r \not \equiv s(\bmod 2)}}-\sum_{\substack{r, s<0 \\
r \not \equiv s(\bmod 2)}}\right) q^{r^{2}+4 r s+s^{2}+3 r+2 s+\frac{3}{2}}+\right. \\
& \left.\left(\sum_{\substack{r, s \geq 0 \\
r \equiv s(\bmod 2)}}-\sum_{\substack{r, s<0 \\
r \equiv s(\bmod 2)}}\right) q^{r^{2}+4 r s+s^{2}+3 r+2 s+\frac{3}{2}}\right\} \\
= & \frac{2(-q)_{\infty}}{(q)_{\infty}}\left(\sum_{r, s \geq 0}-\sum_{r, s<0}\right)(-1)^{r+s} q^{r^{2}+4 r s+s^{2}+3 r+2 s+\frac{3}{2}} \\
= & \frac{2 q^{\frac{3}{2}}(-q)_{\infty}}{(q)_{\infty}} f_{1,2,1}\left(q^{4}, q^{3}, q^{2}\right) .
\end{aligned}
$$

In view of Lemma 2.1, (2.3) and (2.5), we have

$$
f_{1,2,1}\left(q^{4}, q^{3}, q^{2}\right)=-q^{-1} j\left(q ; q^{2}\right) m\left(q^{2}, q^{6}, q^{-1}\right)
$$

so we arrive at

$$
M_{2}(q)=2 m\left(q^{2}, q^{6}, q^{-1}\right)
$$

This completes the proof.
Next, we prove Theorem 1.2.
Proof In [20], Hickerson and Mortenson expressed classical mock theta functions in terms of the Appell-Lerch sums and theta series. Namely,

$$
\begin{align*}
& \phi(q)=2 m\left(q, q^{3},-1\right)  \tag{3.1}\\
& \sigma(q)=-m\left(q^{2}, q^{6}, q\right) \\
& \mu(q)=2 m\left(q^{2}, q^{6},-1\right)-\frac{J_{1,2} \bar{J}_{1,3}}{2 \bar{J}_{1,4}}, \\
& \gamma(q)=3 m\left(q, q^{3},-q\right)+\frac{J_{1,2}^{2}}{\bar{J}_{1,3}} \\
& \phi_{-}(q)=-m\left(q, q^{3}, q\right)-q \frac{\bar{J}_{3,12}^{3}}{J_{1} \bar{J}_{1,4}}
\end{align*}
$$

In view of (2.2) and (2.4), we get

$$
m\left(q^{2}, q^{6}, q^{-1}\right)=m\left(q^{2}, q^{6},-1\right)+\frac{J_{6}^{3} \bar{J}_{1,6}^{2}}{\bar{J}_{0,6} \bar{J}_{2,6} J_{1,6}^{2}}
$$

Combining (1.5) with (3.1) yields the first equality of Theorem 1.2. The proofs of the remaining identities are similar, so we omit them.

Acknowledgements The authors thank the anonymous referees for their careful reading and valuable suggestions.

## References

[1] S. RAMANUJAN. The Lost Notebook and Other Unpublished Papers. Springer-Verlag, Berlin; Narosa Publishing House, New Delhi, 1988.
[2] G. E. ANDREWS, D. HICKERSON. Ramanujan's "lost" notebook. VII. The sixth order mock theta functions. Adv. Math., 1991, 89(1): 60-105.
[3] B. C. BERNDT, S. H. CHAN. Sixth order mock theta functions. Adv. Math., 2007, 216(2): 771-786.
[4] J. LOVEJOY. Bailey pairs and indefinite quadratic forms. J. Math. Anal. Appl., 2014, 410(2): 1002-1013.
[5] G. E. ANDREWS. q-Orthogonal polynomials, Rogers-Ramanujan identities, and mock theta functions. Proc. Steklov Inst. Math., 2012, 276(1): 21-32.
[6] K. BRINGMANN, K. HIKAMI, J. LOVEJOY. On the modularity of the unified WRT invariants of certain Seifert manifolds. Adv. in Appl. Math., 2011, 46(1-4): 86-93.
[7] Y. S. CHOI. Tenth order mock theta functions in Ramanujan's lost notebook. Invent. Math., 1999, 136(3): 497-569.
[8] Y. S. CHOI. Tenth order mock theta functions in Ramanujan's lost notebook. II. Adv. Math., 2000, 156(2): 180-285.
[9] Suping CUI, N. S. S. GU. Some new mock theta functions. Adv. in Appl. Math., 2021, 131: Paper No. 102267, 21 pp .
[10] B. GORDON, R. J. MCINTOSH. Some eighth order mock theta functions. J. London. Math. Soc., 2002, 62(2): 321-335.
[11] N. S. S. GU, Lijun HAO. On some new mock theta functions. J. Aust. Math. Soc., 2019, 107(1): 53-66.
[12] R. J. MCINTOSH. Second order mock theta functions. Canad. Math. Bull., 2007, 50(2): 284-290.
[13] G. N. WATSON. The final problem: an account of the mock theta function. J. London. Math. Soc., 1936, 11(1): 55-80.
[14] J. LOVEJOY, R. OSBURN. q-Hypergeometric double sums as mock theta functions. Pacific J. Math., 2013, 264(1): 151-162.
[15] J. LOVEJOY, R. OSBURN. Mock theta double sums. Glasg. Math. J., 2017, 59(2): 323-348.
[16] N. S. S. GU, Jing LIU. Families of multisums as mock theta functions. Adv. in Appl. Math., 2016, 79: 98-124.
[17] Zhizheng ZHANG, Xiaoqian LI. Mock theta functions in terms of $q$-hypergeometric double sums. Int. J. Number Theory, 2018, 14(6): 1715-1728.
[18] A. E. PATKOWSKI. More on some mock theta double sums. Adv. in Appl. Math., 2019, 106: 20-27.
[19] G. GASPER, M. RAHMAN. Basic Hypergeometric Series, Second edition. Cambridge University Press, Cambridge, 2004.
[20] D. R. HICKERSON, E. T. MORTENSON. Hecke-type double sums, Appell-Lerch sums and mock theta functions. I. Proc. Lond. Math. Soc., 2014, 109(3): 382-422.


[^0]:    Received March 29, 2022; Accepted June 27, 2022
    Supported by the National Natural Science Foundation of China (Grant Nos. 11871258; 12271234), the Young Backbone Teachers in Henan Province (Grant No. 2020GGJS194), the First-Class Courses in Henan Province (Grant No. [2020]13099) and the Young Backbone Teachers in Luoyang Normal College (Grant No. 2019XJGGJS10).

    * Corresponding author

    E-mail address: yangjizhen116@163.com (Jizhen YANG); hanfeisong00@163.com (Hanfei SONG); zhzhzhangyang@163.com (Zhizheng ZHANG)

